11 4 24 25 26
a 3, a1 4,0 3,8
24 25 26 51 53 52
A 14,8 13,4 13,1h 4
B 70 70 70 2, 89 3,9 3,4
c 34 34 31 b 2, 106 2,2 2,0
cA 02 02 02
cB 486 486 4 43
km 1 1 1 1, 2|4 1,2 1, 2
3/ 19 19 19 a-b= 1, 2|4 1,8 1,8
3/ 19 19 19 d 1, 68 1,9 1, 3
31
3/ 1 1 1 1, 68 1,9 1, 3
31 e 2, 82 2,9 3,0
3/ 13 12 9
5 4 3 2, 82 2,9 3,0
5 4 3 d- g4 1.,4p4 1.8 1.4
203 3,0 3,0 3,07 |7 ce 3 4
100m3 8 h
HOY .1 HOY .1 Ho.1h. | 9
10
11 i 3 4
12 j 3 4
13 i
100|. 100|. 100[. |14 4, 87 4,8 4,7
6 84 6 32 474 2, 8o 2,6 2,0
5 79 5 79 5 79 15 b+b 4 5, 8|9 5,8 5, 2
16 59,8 2 56,0 53,3
3
118 118 158
558 598 839
18 3546 358 518
573 5 35 5 05
88 93 95
2 55 2 50 2 48
1513, 188 174
6 69 7 87, 7 51
5 58 499 477
808 8112 798|
20 23a|. 2114|.




7 4 1 24 25 26
a 5, 8|1 5, 83 4, 109
24 25 26 19 13 13
A 63 63 59
B 40 40 40) 5, 9|7 5, 3|8 4, 8|4
c 16 16 14 b 3, 36 3, 22 2, 8l1
CcA 25 25 23
cB 400 400 3 50
km 1 1 1] 1, 2|4 1, 08 1, 21
3/ 10 10 10 a-bs= 2, 8|5 2, 9l0 2, 67
3/ 10 10 10 d 8 0| 8 6| 8 g
3/
3/ 8 8 8 80 8 6| 8 g
3/ e 2, 8|5 2, 82 2, o9
3/ 7 7 7
1 1 1 2, 8|5 2, 9|2 2, 9|9
1 1 1] d- g5 2,505 2,910 2,607
20Mm3 1,0 1,0 1,0 7 ce
100m3 8, 0 8, 0 8, o 8 h
H111 H111 H11 1 9
10
1 i
12 i
13 i}
100|. 100|. 100. |14 6, 08 5, 9|9 5, 2|6
7 00 7 00 7 00 2, 95 2, 0|6 2, 98
8 00 8 00 8 00| 15 b+ b 4 6, 2|2 6, 64 5, 8lo
16 52,31;1 49,98 46,589
3
9 93 108 108|.
2,38 2,27 1, 80
1@ 828 819 804|.
371 3 66 425
5 46 5 70 5 75
161|. 165|. 183
8 71 8 67 8 54
66 72 9§
2,98 2,789 2,749
89 1. 80 2|. 7568|.




